3
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{) sink= 4

a) sin(T-t) =2
b) sin ()
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Section 4.4 Trigonometric functions of any angle

Reference Angle: acute, positive, vertex at origin, rays are
terminal side of 0 and x-axis.

Find the reference angle:

0=300° ref. £=00 O=-135° ref.£=45  0=63
('ef.é‘lé:’)

300

4 : . ,
\[\6 60" 1 /350

-

L/
v
4
12




Reference triangle: terminal side is hypotenuse, one leg is x-
axis, 0 is at the origin

Draw the reference triangle and find the reference angle:

0=5m/9 g4l 0=-15n/11 0 =14n/9
9 e/:L/_{'T 6/:Lf_'l_T
‘ [ ‘ 9

L4

N
‘ L0 |y 22 0 qm £ -0
! ] NI 4 O iy
1530
1=
d
Find the exact values of the six trigonometric functions of 0.
(a) y (b) )
0 0
o | /1N
-s[ 1o ~ \\N ' -t
BN |-
=12, -5
(=12.-5) (1,-1)
S\n@:-% Csco="13 Sing=L.2 ceco= -\
5
Cosp=-12 Sece =13 Cosp=_| T Sep= 5
\3 \2 V2 2
)VO'\Q '-_E =5 -\ *Qﬁ@: <l __ Co il
2 'TL Co’\@s,. ~\—- I ¥® \



The point is on the terminal side of an angle in standard position.
Determine the exact value of the six trigonometric functions of
the angle.

(-4, 10)
V29

SWS‘;

-2

Find the exact values of the remaining trigonometric functions of 0
satisfying the given conditions.

4 1L

3 VAN
cotO—-3KcosO>0
<inG _—\ﬂB csco=-\10

2JI0 Seco=Jlo
[0 3

-1 C04’9:'3




The terminal side of 0 lies on the given line in the specified

quadrant. Find the exact values of the six trigonometric functions
of 0 by finding a point on the line.

4x + 3y =0 and Quad IV

3y=-Yx
:-li 3
4ty o
BN
Sing=-4  cscp="3
> Y
COS@=3‘: Ieed = 2 |

D l‘ A
Yang :J\/3 Coyp=- /q

Use the function value to find the indicated trigonometric value
in the specified quadrant.

csch =-2 inquad IV Find: cotd = V3 _ _ /5"

|

Section 4.4 Pgs. 294-296: #11, 15, 17, 19-23, 25,
33-89 odd, 95, 97, 98, 101, 102
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